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Voor dit examen zijn maximaal 48 punten te voorbeelden e.d.) dan er worden gevraagd.
behalen; het examen bestaat uit 40 vragen. Als er bijvoorbeeld één zin wordt gevraagd
Voor elk vraagnummer is aangegeven hoeveel en je antwoordt met meer dan één zin, dan
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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het anders is
aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op.

B Tckst | Smoke-free pubs

Which of the following fits the gap in the text?
feels sorry for his fellow smokers

has many questions to ask

naturally disapproves

strongly agrees

oo w> N

B Tckst 2 Women fare better in recession than men

“Women fare better in recession than men” (titel)
1p 2 O In welke zin legt de schrijver van dit artikel uit hoe dat komt?
Citeer de eerste twee en de laatste twee woorden van deze zin.

“Women fare better in recession than men” (title)

What could well change as a result of this, according to the article?
Role patterns between partners.

The amount of time women have to work.

The height of the family income.

Ways of spending spare time.

oo w > H

B Teckst 3 Children get sex lessons from soaps

“new research” (regel 4)
1p 4 O Op welke twee manieren hebben de onderzoekers volgens het artikel de
onderzoeksgegevens verzameld?

“While critics claim ... sexual relationships™ (regels 15-17)
2p 5 O Geef voor elk van de onderstaande personen aan of deze wel of niet het standpunt van deze
“critics” deelt.
1 “a source close to the report” (regel 23)
2 “Susan Stranks” (regel 28)
3 “John Beyer” (regel 67)
4 “Zoé Ball” (regel 75)
Noteer elk nummer, gevolgd door “wel” of “niet”.

How could the sentence “A nine-year-old ... with them.’” (lines 51-55) also begin?
Besides, a nine-year-old...

For example, a nine-year-old...

However, a nine-year-old...

Therefore, a nine-year-old...

oo w > W

Which of the following applies to the children discussed in paragraph 7?
They are easy to influence.

They are hard to please.

They are sensation-seeking.

They are television-wise.

oo w > N
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oo w > N

How can the tone of this article best be characterised?

As enthusiastic.
As indifferent.
As ironical.

As neutral.

Tekst 4 Dogged by prejudice

Kies bij iedere open plek in de tekst het juiste antwoord uit de gegeven mogelijkheden.

After all
Anyway
Consequently
Yet

be able
be willing
hesitate
try

change
dominate
exercise
survive

Apart from this
As a result
Nevertheless

Cruelty to
Interest in
Misbehaviour by

define
exaggerate
glorify
illustrate
undermine

grateful
obedient
unremarkable
wonderful
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2p 16 O

1p17.

3p 18 O

1p 19.

O w

1p 20

ow> N

1p 21

oo w > N

2p 22 O

Tekst 5 Disoriented Minds

“It wasn’t ... youngsters alone.” (alinea 1)
Welke twee redenen had de politie volgens alinea 1 om de spijbelaars van Colliton Park met
rust te laten?

How could paragraph 2 also begin?
For example, the logic ran...
However, the logic ran...
Moreover, the logic ran...

Geef voor elk van de onderstaande beweringen met betrekking tot de drie voornaamste
spijbelaars aan of deze wel of niet overeenkomt met de inhoud van de alinea’s 3-5.

1 Ze hangen rond in een park in een troosteloze omgeving.

2 Er zullen binnenkort banen genoeg voor hen zijn in hun eigen wijk.

3 Bepaalde kinderen zoeken om de verkeerde redenen hun gezelschap.

4 Ze beseffen dat het misschien slecht met hen afloopt.

5 Ze gaan ’s nachts uit stelen om hun drinkgewoonte te kunnen betalen.

6 Alleen hun vaders hebben hen enigszins onder controle.

Noteer het nummer van elke bewering, gevolgd door “wel” of “niet”.

Tekst 6 Minority report

Which of the following is referred to by “they had made a great deal” (line 7)?
The in-laws’

joy at having betted on the right boxer.

pride that Amir Khan was to join their family.

satisfaction about not having emigrated to Britain.

What is the point made about the Khan family in paragraph 1?

They did not know how to handle the media attention surrounding Amir’s Olympic medal.
They did not understand how to behave or dress at the Olympic boxing event.

They were divided over which country Amir really represented at the Olympic Games.

What is the aim of paragraph 2?

To compare immigration policies of various European countries.
To condemn Europeans’ attitude towards immigrants.

To emphasise immigrants’ inability to integrate successfully.
To outline the central question concerning immigration.

In de alinea’s 3 en 4 vergelijkt de schrijver de vroegere en de hedendaagse immigranten in
Groot-Brittannié.

Geef voor elk van de onderstaande uitspraken aan of deze wel of niet een kenmerk van de
hedendaagse immigranten weergeeft volgens de alinea’s 3-4.

1 Ze bedreigen de werkgelegenheid van de vroegere immigranten.

2 Ze spreken minder Engels dan de vroegere immigranten.

3 Ze vallen qua uiterlijk minder op dan de vroegere immigranten.

4 Ze zijn hoofdzakelijk afkomstig uit Oost-Europese landen.

Noteer het nummer van elke uitspraak, gevolgd door “wel” of “niet”.
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1p 23 B What is the main point made in paragraph 5?

A Children of different ethnic backgrounds achieve differently within the British education
system.

B Friendships between white Britons and immigrants are becoming rarer and rarer.

¢ The composition of the police force does not at all reflect the composition of the British
population.

D The integration of the new generation of immigrants into British society is likely to be
problematic.

Which of the following is true about the Tory party, according to paragraph 6?
It is going to present the most radical anti-immigration plan so far.

It is making intelligent use of its leader’s foreign background.

It is particularly popular among those people who oppose immigration.

It is trying to benefit from Britons’ unease about immigration.

oo w> N

What becomes clear about the Labour home secretary, according to paragraph 7?
He is aiming his integration campaign at the young only.

He is developing measures to improve immigrants’ integration.

He is putting forward lots of ideas but achieving very little.

ow> N

Which of the following can replace “the Khans” in line 79?
“Amir Khan and his family”

“immigrants of Pakistani origin”

“people of the Muslim faith”

ow> N

“Fulfilling ... first step.” (regels 87-89)
1p 27 O Welke concrete maatregel om deze belofte te vervullen stelt de schrijver voor in alinea 8?

B Tckst 7 Mac attack

1p 28 B How does Eric Schlosser regard fast food chains, according to paragraph 1?
A As abad influence on life in the US and the rest of the world.
B As a logical consequence of recent developments in US society.
¢ As an example of the worldwide popularity of US culture.

3p 29 O Geef voor elk van de onderstaande aspecten aan of het wel of niet als punt van kritiek op
fast food restaurants wordt gepresenteerd in de alinea’s 2-3.
I De grote hoeveelheid afval.
2 Lage salarissen.
3 Ongezond voedsel.
4 Overdreven vriendelijke bediening.
5 Uitbuiting van economische machtspositie.
6 Weinig variatie in de maaltijden.
Noteer het nummer van elk aspect, gevolgd door “wel” of “niet”.

B Tckst 8 Ban on opinion polls

1» 30 B  How does Cormac F. Gaynor appear to look upon a “ban on opinion polls”?
A As a threat to the freedom of speech.
B As justified from a historical point of view.
¢ Asright, considering the negative influence polls can have.
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o0 w >

1p 33

oo w> N

2p 34 0O

oo w> N

Tekst 9 Bang bang you’re banned

“tougher measures” (regel 4)
In welke alinea worden deze strengere maatregelen in nader detail besproken?
Noteer het nummer van deze alinea.

Which unwanted side-effect will “an increased licence fee” have according to paragraphs 4
and 5?

Certain types of fireworks will not be available any more.

Fewer shopkeepers will be willing to sell fireworks.

Fireworks dealers will put their prices up.

Illegal trading in fireworks will become even more attractive.

What is the function of the examples in paragraph 5?

To condemn the course of action the police have taken so far.

To emphasise the urgent need for the tougher fireworks laws.

To explain the difficulties in upholding the new fireworks laws.

To show why the competition among fireworks dealers corrupts the trade.

Geef voor elk van de onderstaande uitspraken aan of de schrijver deze wel of niet noemt als
zinvolle maatregel bij het aanpakken van vuurwerkoverlast.

I Betere ordehandhaving door de politie.

2 Douane meer arrestatiebevoegdheden geven.

3 Hogere boetes opleggen.

4 Strenger optreden tegen de verkoop van vuurwerk aan minderjarigen.

Noteer het nummer van elke uitspraak, gevolgd door “wel” of “niet”.

Which of the following reflects the writer’s opinion on the new fireworks laws as a whole?
They are too complicated to work effectively.

They are unlikely to make much difference.

They could help change people’s attitudes.

They will give the police more authority.

Tekst 10 Dear Lucinda...

1p 36 B Which of the following does Brendan Vaughan think about World Without Tears, according
to the first three paragraphs (lines 1-18)?
A It does not offer listeners enough variation.
B It is too experimental for a large audience.
¢ It lacks authenticity and uniqueness.
D It mixes too many musical styles.
“My theory?” (regel 19)
1p 37 O Wat is de theorie van Brendan Vaughan volgens de vierde alinea (regels 19-25)?
1p 38 @ How can the text Dear Lucinda... best be characterised?
A As a background article in the style of a letter by an intimate friend.
B As a music column in the style of a letter to the editor.
¢ As an advertisement in the style of a personal letter.
D As arecord review in the style of a letter by a disappointed lover.
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Lees bij de volgende opgaven steeds eerst de vraag voordat je de bijbehorende tekst
raadpleegt.

B Tckst 11 Wedding Superstitions & Traditions

1p 39 O Blijkt uit deze tekst waarom er bruidsmeisjes met de bruid meelopen? Zo nee, antwoord
“Nee”. Zo ja, schrijf op onder welk kopje deze informatie te vinden is.

B Tckst 12 You’ll believe a man can fly.

“Could a caped crusader really patrol your neighbourhood?” (ondertitel)
1p 40 O Van welke superheld is het volgens deze tekst het minst waarschijnlijk dat hij echt zou
kunnen bestaan?
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